o EOlA x o] ke F-stolet,

IR~ o
/ ~ o
/ ~
| T
g N
z—2 N
\ \
AN
\ \
\ \
[
—— -




2. oF 2HY 90 el x 9 gh& Fstofet

AB
> &
> Het: 8

1 1
BH:iAB:5x30:15,.2x:\/172—1522\/6_:8




& 14 OM = ON & ], &7

o 70
A2 A7

® 0A=0C @ AN =BM

® CN =BM

®G)an = om

- N

® AM = BM , OM = ON




e

o
=

2383} ZFo] AABC oA A Q9

%4 0 oA Al Wl W 419) o]z
B 28w, BC o Aol Tsjoiet,

Zrong AABC = AAZIg ol

whatA] A #e] Zol7l Zong AB = 2AM =

g10] F4e14 Bo] Wl $419] dol7k gow 1 @] Aol




Aol T & YolA OP 7t 22 A} vh
d PQ 7 #e U whvte HS T 2 sk
m Z

@ 13cm @ 1l4em @ 15cm @16cm ® 17cm

OT = 6(cm) ©]2L LOTP = 90° °|22 PT = V102-62 =

V100 - 36 = V64 = 8( cm) ©]tt.
w2kA PQ = 2 x 8 = 16(cm) ©]t}.




6. T 1ol o] RiAEe] dol=? C




@ 7em @ 7vV3cm ©)
@ 8v3cm ® 9cm

B

AOAM ©f| 4 OAZ = AM2 + OM2 0|22
52 =42 + OM"

OM = 3cm (- OM > 0)

.. MN =OM+ ON =3 +5 = 8(cm)




The Al 5.0ptAB L= HHR 2o Za

017} 13 91 Ye] AR Ho|h, AB =

3 of, CD ] Zol&? A
@1 @ V2 22 @ 2

991 34 097 ¢, 7 AS QAT

AAOD °|A OD = VAO® —AD? = V132 —52 = 12
~.CD=0C-0D=13-12=1




\VARR 4
0x
i

D 6V3

AM = \/_62—322 V36 —9 = V27 = 3V30|tt
waba AB = 6 V3©°]th. OM = ON = 3°9]|2& AB = CD =
6 V3oltt.




10. the 179 90 o4 AAF BB
Yol=? (2, AB = CD)

@ 35cm? @ 40cm? ® 52cm?

@®)60cm? ® 72cm?

AB =CD °]2& OM = ON = 5cm ©|t}.
mepal et Aeof o

CN = V13252 = 12

&3 CN = DN = 12cm

1
. AOCD = 3 % 24 x 5 = 60(cm?)




11. o2 132 9 O o4 ABLOM ©]1Z AB =
CD ©]t}. AM = 6cm, OM = V5em
210 9] Yol?
(D)éll]rcm2 @ 497xcm? ® 56mcm?
@ 60mcm? ® 64rcm?
AB = CD °]|22 OM = ON = A

V5cm o]t}
wehaets geo] ol
OC = /(V5)2 +62 = V4l cm
webd 219] gol

n(V41)? = 41n(em?) oJTh,




12.

oh2 297 o] ¥hx 5] dejrt 10 <
BONHOM=0N=6¢% 0] x+y ]

&7

@ 28 @32 ® 48

~&B

OM = ON 0|22 AB = AC o]t}
AAMO o4 AM = V102 - 62 =38
AB =2AM = 16

webA x +y = 32 o]d.




1Y) A AABC 7} AB

)
I dlo

ol FHAZE Y 1, ABOC 2
shofet,

> =

> & 15




14. o8 2H9A 5.0ptAB Rl ZAR=Xe) ped|

—

o7} 8em 1 o] ARBolch, AR = A~Zew
BH, ABLHP ©|1 HP = 2cm ¥ o,

AAPB 9] E8|&?

@® 7V2cm @ (16 V7 +3v2)cm
® (3V6+2V7)em @) (47 +8v2)em

® (2V7+4V2)em

B

Ho] F4H 0 I Yeffjo] HH
AZH7+e A0AH °A
AH = VOA? - OH2

= /(8)2=(6)2 = 2V7(cm)
oluf, AH = BH = 2V7cm ©]| 22
E: 4\/7CH1 O]—ﬂ,

AP = /(AH?) + (HP?)
(2V7)? + (2)2 = 4V2(cm)
w2tA], AAPB ©] Ed& (8 V2 + 4V7)(cem) o]t




15. thg I T SHAY WAZY Lol
AB7} 22 919 B4 1), B 9 Aol

O V7em @2\/70111 ® 4+V7cm
@ 67 cm ® 37 cm

~&B ~

AB

A9 542 0, AB 9 22 99 HFL T o b AT —

Ez—m2=42—32=7(cm)
AT = Wcm,ﬁzQ\ﬁcm




